15D 15(585kW)  E=4E 202542 A

_ 55 | gm || %B5E | n6akE | mBR:t | RBEE | =ZmX
R A= c | m kWh M B F5H(kWh) %
2/1(1) |[EDOBELmE 4.7 | 4.9 783.7 | 11,207 11,207 2,841 | 394.4
2/2(A) |[BniE<&0| 3.5 | 8.7 | 1,740.4 | 24,888 36,095 5,683 | 635.2
2/3B) |[Bnos&Eh| 4.8 | 2.6 ||[1,173.7| 16,783 52,878 8,524 | 620.3
2/40)) |[BniE<&0[ 3.6 | 3.0 648.3 9,271 62,149 11,366 | 546.8
2/50K) [EDEB~<E| -0.9 | 0.0 1.3 19 62,168 14,207 | 437.6
2/60K) [EDEB4E| 0.2 | 1.1 1.1 16 62,184 17,048 | 364.7
2/1(%) & 13 | 0.3 0.2 3 62,187 19,890 | 312.7
2/8(1) [EDBAE| 2.3 | 2.6 0.6 8 62,195 22,731 | 273.6
2/98) [EDEBAE| 29 | 3.3 0.1 1 62,196 25,573 | 243.2
2/108) |BN—B&E| 3.5 | 3.2 0.1 1 62,198 28,414 | 218.9
21100 28D 16 | 1.7 0.0 0 62,198 31,256 | 199.0
2/1200)| 2D 53 | 2.6 8.2 117 62,314 34,097 | 182.8
2/13CK) | ED—B=E| 39 | 0.6 16.7 238 62,552 36,938 | 169.3
2142 | E0—BE| 5.4 | 2.1 14.7 210 62,762 39,780 | 157.8

2/15(1) || IBN—H8FZ | 8.7 9.7 1,051.9 15,041 77,804 42,621 | 182.5

2/16(A) (|12 k4B | 10.5 | 6.1 1,371.8 19,617 97,421 45,463 | 214.3

211 | D —I’E| 7.2 1.3 890.9 12,739 110,160 48,304 | 228.1

2/18(R) | 2D —BFZ | 0.0 2.3 7.7 110 110,270 51,145 | 215.6

2/190K) |[lBNEE <220 1.2 2.7 80.8 1,155 111,424 53,987 | 206.4

2/200K) [[E20E<iEN| 3.1 5.1 107.3 1,535 112,959 56,828 [ 198.8

2/21(&)[[B0E<EN| 2.8 4.5 250.1 3,576 116,536 59,670 [ 195.3

2/22(1)[[E20OE<EEN| 2.8 2.6 58.1 830 117,366 62,511 | 187.8

2/23(R) [[E20E<8EN| 2.0 2.0 351.8 5,031 122,396 65,353 | 187.3

2/24(A)||E2DEE<EBN| 3.6 3.9 1,128.9 16,143 138,539 68,194 | 203.2

2/250K) ||IBNEE2 ZE0D( 8.0 7.7 | 2,563.6 36,659 175,198 71,035 | 246.6

2/260K) | 2D —BFE | 5.7 0.0 1,024.3 14,648 189,846 73,877 | 257.0

2/27(K) |[IBNEE2E0( 9.3 9.3 |[3,186.7 45,570 235,416 76,718 | 306.9

2/28(%) ||IBNEK4ED[ 11.2 | 6.6 | 2,589.8 37,034 272,450 79,560 | 342.4

BH&sET °C h|[19052.4 ¥272,450
EEFI(/8) 4.1 | 3.59 || 680.4 ¥9,730
[  BAHEEE 2.42 | 218.9 ¥2,841
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